Cll# JloGaBnenue (B npenenax 5)

Nwms:

Pemure kaxayrw u3 npoodJiem.
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Jlo6aBnenue (B npeaenax S) Uwmsi: K104 K NpaBHILHBIM OTBETaM
Pemure kaxayrw u3 npoodJiem.
l1+4=_5 4+1=_5
I+1= 2 1+0= 1
0+0= 0 0+4=_4
0+2= 2 0+3=_3
2+2= 4 2+0= 2
1+3= 4 3+1=_4
24+1= 3 540=_5
4+0= 4 0+5=_5
0+1= 1 l1+2=_3
3+2=_5 3+0=_3
0+0= 0 1+0=_1
24+40= 2 1+3=_4
0+3= 3 0+2= 2
0+4= 4 1+4= 5
2+1=_3 3+0=_3
0+1= 1 3+1= 4
3+2=_5 2+2= 4
4+0= 4 0+5=_5
1+1= 2 44+41=_5
5+0= 5 2+3=_5
1+2= 3 540=_5
3+1=_ 4 24+42=_4
1+2= 3 1+3=_4
4+0= 4 3+2=_5
0+3=_3 o+1=_1
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